ALGEBRAIC STATEMENTS
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A barrel weighs 15 kilograms
miwe than 2 hale of hay.

A bale af hay and-a barrel wogerher |
weigh 135 kilograms.
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weighn weiph a ool of 135 kiloe.

If we remove 15 kilos foom each |
plaze we are heft wich rwo bales of |
heay char weigh 1 20 kilegrams.

Which means thar one hale of |
by weiphs 60 kiloprams.

And one barrel weighs |
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Which equation can you match to the statements below?

gf A third of & member is equal oo i guaerner phas
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[Ber2tcr2) =30 [15(x—1) = 5%

b} Arsdres is rrlpl-c thie ape of his sisrer, snd baoch their
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c} A rl.l.l.il'l__-;||. is } mieores Lcll'l__-:cl' than it is wide and
its perimerer is 30 memres. (Width ¢ & mermes)

d}l paid 30 € for 3 drawing pads and a2 box of
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s the speed of 15 kmih end a person walking ar the
speed of § kmi'horook 1 hour longer.
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b A cricker mowes foreard one merre les than 2
grasshopper with each jump. Bur in 15 jumps,
thee cricker oravels & far & the prasshopper dos in
5 jumps. ({irzsshopper
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QUESTIONS & TALK
TRUE OR FALSE?

. 2 - 2 .
a) The equation x* + 6x — x° = 7x — 1 is second
degrﬂe.

b) The equation 2x + x - y = 6 is second degree.

¢) The terms of an equation are the addends that

-

make up the members.

VOCABULARY & EXPRESSIONS

- ELEMENTS OF A
EQUATION: elementos de una
ecuacioén

Member: miembro

Term: término

Unknown: incdgnita

Degree: grado

Solution: solucién

- Equivalent equations:
ecuaciones equivalentes

- FIRST DEGREE
EQUATION: ecuacién de
primer grado

- To reduce terms:
reducir términos

- To transposing terms:
transponer términos

- To check the solution:
comprobar la solucién

- Equations with
denominators: ecuaciones
con denominadores

with
ecuaciones

= Equations
parentheses:
con paréntesis

- SECOND DEGREE
EQUATION: ecuacién de
segundo grado

- General form: forma
general

- Complete equation:
ecuacién completa

- To isolate the unknown:
despejar la incégnita

d) An equation can have more than 2 members.

¢) All first degree equations are equivalent

C

f) The equation x + 1 = 5 is equivalent to the

equation x + 2 = 0.




/ EQUATIONS WITH DENOMINATORS \

= Complete these steps to solve first degree equations with denominators:

1.- When there are denominators in the .................. of a equation, we change the equation
[19] (o I TR one that does not have ..........cccceu.....
2.- Calculate the least common .........cccceeevvveenneee.. ofthe cooovvvenieiiines

3.- Find the equivalent ..................

4.- Simplify the denominators.

5.- Isolate the variable ..................... on one side, and the constant terms on the other ..........
6. e, both sides.
7.- Find the ................. and check it.

SECOND DEGREE EQUATIONS

Calculate the perimeter of the farm, knowing that
Calculate the perimeter of the farm

of two different ways:
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the surface is 180 square decametres.

SOLVING PROBLEMS WITH EQUATIONS

A hypermarket has a number of washing machines on offer
today. It sold htzlf in the morning and one thivd in the aﬁemoan.
If it has sold 20 units in total, how many washing machines in
total were on aﬁér?

Ana and her mother cross the street at a zebra crossing. Ana takes
w 35 steps and her mother only takes 25 steps. If one of her mother’s
steps is 20 cm longer than Ana’s, how long are each of their steps?
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